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1

Following steps removed:

59788.42014 : Step 1 −361200 ns
259788.42535 : Step 2 653800 ns
3

59788.42882 : Step 3 −345900 ns

4

59788.43229 : Step 4 −345900 ns

5

59788.43576 : Step 5 654200 ns

6

59788.43924 : Step 6 −345600 ns

7

59788.44271 : Step 7 −345400 ns

8

59788.44618 : Step 8 654600 ns

9

59788.44965 : Step 9 −345400 ns

10

59788.45313 : Step 10 −345300 ns
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300 s: Mdev= 0.13328E−10 Tdev= 2310 ps
601 s: Mdev= 0.68179E−11 Tdev= 2364 ps
1201 s: Mdev= 0.42887E−11 Tdev= 2974 ps
2402 s: Mdev= 0.33634E−11 Tdev= 4665 ps
4804 s: Mdev= 0.23956E−11 Tdev= 6645 ps
9609 s: Mdev= 0.18017E−11 Tdev= 9995 ps
19217 s: Mdev= 0.87725E−12 Tdev= 9733 ps
38434 s: Mdev= 0.52273E−12 Tdev= 11599 ps
76869 s: Mdev= 0.43769E−12 Tdev= 19425 ps
153737 s: Mdev= 0.25053E−12 Tdev= 22237 ps
307475 s: Mdev= 0.15388E−12 Tdev= 27317 ps
614949 s: Mdev= 0.25731E−13 Tdev= 9135 ps
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